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INSTRUCTIONS TO CANDIDATES

This paper consisis of TW0 sections; A and B.
Answer ALL questions in BOTH sections in the answer booklet provided.

All questions carry equal marks.
Candidates should answer the guestions in English.

This paper consists of 5 printed pages.
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SECTION A (32 marks)

Answer ALL questions in thiy section,

1. Outline four short-term sources of business finance., {4 marks)
2. State the difference between average cost of capital and marginal cost of capital, {2 marks)
3. Acompany intends to issue ordinary shares at a par value of Ksh 100, The floatation costs are
expected to be 5% of the share price. The company recently paid an ordinary dividend of
Ksh 4 per share, The dividends arc expected to grow at the rate of 7% per annum. Calculate the
cost of équity. . (3 marks)
4. Highlight four roles played by commercial banks in a Country, {4 marks)
3. The following information relates to WO projects: Aand B,
Project
A B
(Ksh) (Ksh)
Initial cost 2,000,000 2,500,000
Present value of cash inflows 25000,000  1,9004000
25,600,000
(i) Calculate the Profitability Index (PI) of'each project.
{ii)  Using the results in (i) above, advise the management on the project 1o invest in.
(3 marks)
6. Distinguish between Business Finance and Financial Accounting. (2 marks)
7. Aninvestor plans to deposit Ksh 50,000 in a bank account at the beginning of each vear for the
next 10 years. The discounting rate is 10%. Calculate the present value of the amount,
: {3 marks)
8. Outline three parties with whom a company may negotiate a reduction in cash outflow.
' (3 marks)
9. State four types of holding costs in a firm, (4 marks)
10.  The current ratio and quick ratio of & company are 4 | and 2.5 - 1, respectively. The value of
inventory is Ksh 150,000, Determine the:
(1) current assets:
{ii} current liabilities. {4 mark)
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SECTION B (58 marks)
Answer ALL gquestions in this section.
Explain four ways in which business finance may be significant to a firm. (& marks)

John intends to invest Ksh 1,500,000 in a project. The following are the expected net
cash inflows from the project.

Net cash inflows
(Ksh)
400,000
600,000
500,000
400, 00K
200,000

Year

N

The cost of capital is 14%.
{iy  Determine the Net Present Value (NPY) of the project.

{(ii)  Based on the results in (i} above, advise John on whether to invest in the project
or not. (9 marks)

Explain four disadvantages of retained camings as a source of business finance.
' {8 marks)

The ordinary shares of Kwetu Limited are currently trading at Ksh 50 each, The
company expects to pay an ordinary dividend of Ksh 2.50 per share. The dividend is
expected to grow at the raté of 6% per annum. '

(1) Determine the company's cost of equity.
(i)  Based on the results in (i) above, determine the market price per share, if the
dividend growth rate is:

I B%

II. T%. {9 marks)
Explain four factors that may contrnibute 1o the failure of indigenous financial
institutions in  Kenya. A {8 marks)
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Mary received a lump sum pension amounting to Ksh 5,000,000, She is considering
investing the amount in either of the following options:

Option I

Invest in a bank paying interest at the rate of 12% per annum, compounded annually.

Option 11
Invest in a bond paying interest at the rate of 14% per annum, compounded semi-
annualily.

(1) Determine:

E the amount that will be in her account at the end of the 5 years under
each option;
1. the interest earned under each option”

(1)  Based on the results in (11} above, advise Mary on the option to select.
(9 marks)

QOutline four areas in which the concept of time value of money may be applied in a
business. {8 marks)

The following is an extract from the books of account of Peta Pata Limited for the year
ended 31 Decemnber 2021.

Ksh
Credit sales 1,750,000
Trade creditors 180,000
Bills receivable 96,000

Bills payable 104 000
Credit purchases 840,000
Trade debtors 118,000

(Take 1 year = 365 days)
Calculate the:

(i) trade receivable turnover ratio;

(i}  average collection period;

(iii)  trade payable turnover ratio;

{iv) average payment period. (9 marks)
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